



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Artificial Intelligence and Data Science)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1032546	DUSEJA RONAK GOPAL KANCHAN 2023016402052455 (3)Andheri-(238)	58651 32+	17+	49		FEC101 --	24+	24		58652 24	15+	39		FEL101 --	19+	19		58655 26+	11+	37		FEL102 --	23+	23	18.00 125.50	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.97 --
		58653 37+	10+	47		FEL103 --	20+	42		58654 52+	18+	70		FEL104 --	21+	40		FEL105 --	41+	41						
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
Remark: REVALUATION																										
1032557	SHAIKH RAYAN PARVEZ ARSHI ARSHI 2023016400716154 (2)Dadar-(356)	58651 27F	10+	37		FEC101 --	19+	19		58652 25E	7+	32		FEL101 --	20+	20		58655 43+	7+	50		FEL102 --	20+	20	Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	-- --
		58653 26F	8+	34		FEL103 --	16+	32		58654 49E	8+	57		FEL104 --	19+	38		FEL105 --	34+	34						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
Remark: REVALUATION																										
1032558	ARCHIT PRASHANT SHINDE SONAL 2023016400710826 (2)Dadar-(356)	58651 32+	8+	40		FEC101 --	20+	20		58652 29E	6+	35		FEL101 --	22+	22		58655 30+	6+	36		FEL102 --	24+	24	Unsuccessful -- --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 24F	9+	33		FEL103 --	14+	28		58654 32+	8+	40		FEL104 --	20+	40		FEL105 --	39+	39						
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
Remark: REVALUATION																										

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Artificial Intelligence and Data Science)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1032560	SHUKLA NISHANT PRAMOD REENA SHUKLA 2023016400710591 (2)Dadar-(356)	58651 16F	8+	24		FEC101 19+	19			58652 25+	6+	31		FEL101 22+	22		58655 24+	7+	31		FEL102 22+	22			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 26F	8+	34		FEL103 16+	32			58654 36+	9+	45		FEL104 21+	42		FEL105 39+	39											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1032568	/ BOHRA SIMRAN NARESH BABITA 2023016402204082 (36)Karjat-(438)	58651 45	9+	54		FEC101 17+	17			58652 24+	7+	31		FEL101 20+	20		58655 24+	6+	30		FEL102 20+	20			Successful 18.00 103.00				
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.72 --			
		58653 39+	8+	47		FEL103 15+	33			58654 32+	8+	40		FEL104 20+	35		FEL105 43+	43											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1032570	DESHMUKH VIVEK PANDURANG UJWALA 2023016402212696 (36)Karjat-(438)	58651 32E	11+	43		FEC101 10+	10			58652 26+	7+	33		FEL101 20+	20		58655 24+	6E	30		FEL102 20+	20			Unsuccessful -- --				
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32E	18+	50		FEL103 15+	30			58654 20F	8+	28		FEL104 13+	31		FEL105 36+	36											
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Artificial Intelligence and Data Science)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1032572	/ NILADHE PATIL PRACHITI ARUN HARSHADA 2023016402211291 (36)Karjat-(438)	58651 32E	15+	47		FEC101 13+	13			58652 24+	6+	30		FEL101 20+	20			58655 24+	6+	30		FEL102 22+	22			Unsuccessful -- --
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 34+	13+	47		FEL103 20+	38			58654 18F	8+	26		FEL104 20+	39			FEL105 43+	43							
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1032573	PANCHAL PRATHAM PRAKASH DEEPA 2023016402204097 (36)Karjat-(438)	58651 17F	17+	34		FEC101 13+	13			58652 26+	6+	32		FEL101 20+	20			58655 26+	6+	32		FEL102 20+	20			Unsuccessful -- --
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32+	13+	45		FEL103 18+	40			58654 25F	18+	43		FEL104 15+	35			FEL105 39+	39							
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1032574	PATIL ARYAN ARVIND GODAVARI 2023016402212603 (36)Karjat-(438)	58651 32	16+	48		FEC101 12+	12			58652 24+	6+	30		FEL101 22+	22			58655 24+	8+	32		FEL102 11+	11			Successful 18.00 90.00
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	5.00 --
		58653 32	11+	43		FEL103 17+	34			58654 33	8+	41		FEL104 12+	25			FEL105 40+	40							
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Artificial Intelligence and Data Science)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
1032579	/ LOHAR PRACHITI KIRAN SONALI 2023016402065115 (1)Mumbai-(126)	58651 23F	9+	32		FEC101 --	21+	21		58652 24+	6+	30		FEL101 --	21+	21		58655 24+	9+	33		FEL102 --	22+	22		Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32E	8+	40		FEL103 --	21+	36		58654 32+	9+	41		FEL104 --	23+	37		FEL105 --	45+	45									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1032581	/ TAYADE VEDANT DNYANESHWAR SANDHYA 2023016402069562 (1)Mumbai-(126)	58651 18F	9+	27		FEC101 --	16+	16		58652 26+	9+	35		FEL101 --	15+	15		58655 24+	6+	30		FEL102 --	16+	16		Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 24F	8+	32		FEL103 --	18+	33		58654 35+	9+	44		FEL104 --	19+	37		FEL105 --	42+	42									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1032583	/ DHAVALA SHARVARI SANJAY VIDYA 2023016400619097 (76)Navi Mumbai-(403)	58651 36+	9+	45		FEC101 --	18+	18		58652 25+	7+	32		FEL101 --	23+	23		58655 24+	8+	32		FEL102 --	22+	22		Successful 18.00 106.00			
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.89 --			
		58653 36+	8+	44		FEL103 --	20+	41		58654 32	14+	46		FEL104 --	21+	41		FEL105 --	43+	43									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Artificial Intelligence and Data Science)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1032593	INGLE RUDRAKSH RAVINDRA GANGA 2023016401230783 (12) Panvel- (385)	58651 16F	8+	24		FEC101 12+	12			58652 24E	7+	31		FEL101 11+	11		58655 6F	6+	12		FEL102 10+	10			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	-- --			
		58653 33E	9+	42		FEL103 10+	20			58654 11F	8+	19		FEL104 14+	31		FEL105 25+	25											
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1032600	/ BANSODE SANIYA RAJESH MINAL 2023016402075937 (5) Thane- (237)	58651 32+	12+	44		FEC101 20+	20			58652 24+	7+	31		FEL101 18+	18		58655 27+	6+	33		FEL102 22+	22			Unsuccessful -- --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 21F	10+	31		FEL103 20+	33			58654 49+	10+	59		FEL104 15+	30		FEL105 41+	41											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1032613	SATPUTE PRIYANSHU DATTATRAY SUVARNA 2022016402237012 (5) Thane- (237)	58651 36	9+	45		FEC101 20+	20			58652 24+	6+	30		FEL101 20+	20		58655 27+	6+	33		FEL102 17+	17			Successful 18.00 107.50				
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.97 --			
		58653 32	13+	45		FEL103 22+	38			58654 39	8+	47		FEL104 22+	38		FEL105 43+	43											
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Artificial Intelligence and Data Science)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1032632	PATIL AAYUSH HEMANT PRATIMA	18F	14+	32		--	19+	19		34+	7+	41		--	20+	20		26+	6+	32		--	21+	21		Unsuccessful			
	2023016401239534	3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
	(22)Vasai-(466)	47+	8+	55		--	16+	33		32+	12+	44		--	24+	43		--	44+	44									
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

Remark: REVALUATION

1032633	RAUT CHIRAG DEEPAK DEEPIKA	35+	9+	44		--	25+	25		24+	7+	31		--	20+	20		24+	8+	32		--	22+	22		Unsuccessful	
	2022016402066616	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--
	(22)Vasai-(466)	32E	8+	40		--	20+	35		17F	9+	26		--	21+	41		--	44+	44							
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	

Remark: REVALUATION

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

